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Note :The question paper is divided into three sections
A, B and C. Give the answer according to the
directions given in each section.

TE YT U5 hHYI: %, @ TS T 99 @l § fawfea ® |
Y% ©g & RegER Wl & SW R |

Section-A / 9T-©h

(Long Answer Type Questions)
(<t 3wlE W)
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Note: Answer any two questions. Each question carries

15 Marks.
frel < wedl & SwW T | Y% W 15 3Rl
Ol (2x15=30)

1.  Using examples expalin various tyeps of sets.

Temg & fafv=1 whR Al SR w geral @
TRy |

2. (a Without using log table, solve the following
equation :
g vt w1 g fey fem,  fAfafea
THE w ' ®INC -

5,7 911,13 15,17,19,21
10g727[92 2}+10g727[273 303 }+10g729[814 44 4}

(b) Prove that log, 3 x log,2 = 1
fag =iy % log,3 x log,2 = 1

3. (a What is the basic difference between permutations
and combinations ?

SHII q WANA & S ga SR w ®2

(b) In how many ways can the letters of the word
'MANAGEMENT' be rearranged so that the two
'A' do not appear together ?

63/125/25 2



4. (a)

(b)

'MANAGEMENT' ¥1& & 31eii ol fohad adienl
¥ yidafem fem w1 wea © fmd QA
IR TH WY A A w2

Explain the various types of Matrices.

Az (emegE) & fafm wRl & wHEmEw)

, then calculate the value of x.

2 3% h3 23
4 5 |23

"

2

13 23
23

2 3
4 5

RIS B x 1 °H J1d Hifeg |

Section-B / 9TT-@
(Short Answer Type Questions)
(T ITAT )

Note : Answer any four questions. Each question carries 5 Marks.

(4x5=20)
1.  What are the DE Morgan's Laws ?
<t | & fagra g ® 2
3 PTO
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2. Prove that AU BNO) = (AUB) N (AUC) using Venn
Diagram.
37 oM@ ¥ @ifed wd gL fag s f& AU (BNO)
=(AUB) N (AUO).

~ -

1
|

—
— N

2 0 0
3. 1A= 2 0pbg= |9 1 3| then what would be
0 0 2 0 2

(=)

the value of |AB| ?

[2 0 0] [1 2 3]
ZrFq’A={O 2 OJ,B:{O 1 szﬁHABmﬂqﬁw

0 0 2 00
ghm ?
4. If a =x7', b =x7", ¢ = xy' then, Prove that
it x prP x P11 =1

IR a=xp' b=x#! ¢c=x'q, fag Fifoy &

AT xX P x pi=1]

5. Find the sum to o of the Geometric Progression

21 63

7343163 ...........

W%‘mﬁ%%,%, .......... 1 AN 3 UK qk [
i |
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6. Explain the properties of integration with the help of
examples.

ITEN B e F THIHO & i & a8 H sy |

3

. X
7.  Evaluate J. 1 8x 112

3
X . .
—2——dx ek i
-[x2+8x+12 !

8. Write a note on the use of principles of differentiation in
business economics.

eI R § gshed f9g< & W W T
feunt fafem |

Section-C / 9WFT-TT
(Objective Type Questions) / T:l'ﬂﬁl‘%‘ PEE]

Note : Answer all questions. Each question carries 1 Mark.

aoft gl % I AU | Y& T 1 3% @ Bl
(10 x 1 =10)

Write True/False against the following :
frfafed & 9 To/eEe fafag .

1. The inverse of a square matrix can always be determined.

ol Afge w1 Aiiei™ 3EYT M B Fehd ® |
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A matrix which has exactly one row is called a row matrix.
form e (emege) & fad ww i et 39 ik dfew
(3MeTE) Hed T |

If three numbers a, b, ¢ are in Harmonic Progression then
their reciprocals would be in Arithmetic Progression.

3R i AW a, b, ¢ TUcHH 9 § & qt Th Feohd
TR St | g

Fill in the blanks :
e Tt &t gfd sty |

4.

Product of two sets A and B A x B is known as ............
product.

=9 AT9 B & PHEA AXB ... TOHEEA
FHeArd © |
The ..ocooeeeeeee. is called as the common difference of the

arithmetic progression.

T SO B AR T B e %3 Wl § |

Indicate the correct answer-option :

IW & fou wt fasew &1 9@ Wit ¢

6.

IfFA=1{01,3 5, B=1{561,3, 9 and C =
{0, 1, 2, 3, 9, 13}. Then the value of (A~B) _C is :
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FM A=1{0,1,3, 5},B={56,1,3, 9} a0
C=1{0,1,2,3,9,13} & @ (A~B) UC &1 9 &0 :

@ {0,1,2, 3,9, 13}
b)) {0,1,2 3,5, 9, 13}
© 0,1, 3}
@ {1, 3}
7. If 5* + 52 = 650, then what would be the value of x ?

IR 5%+ 572 =650, & 1 x %1 HF =1 B ?

@ 2
b 3
) 6

(d) None of these 35 ¥ ®IE &l

2 0

0 J then (A + 31) (A — 21) equals which of

8. IfA=[

the following ?

2 0
trﬁ:AzL) J g, d@ (A+31) (A-21) f= F 9 fpam
X &M ?

@ A’+A—6l
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b A’—6l
© A+1-6A
@ A-6l

9. [@x+1)Pdr=?

@ 3@+ 1"
b) 1@+ 1)”

© 3Gx+1)”

@ @+ D"

10. The logarithm of a number is 3.5500. Find the characteristic
and mantissa.

Toh GE&AT T AU 3.5500 B1 UIE SR srquiier B w@
i |
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